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tq frlq * q< I ftr *< f<t qril t, H fiIqrqfr fff q,a qnr t. fu ftfq + 3 f<r sr< s1 ftls

a1gaftfttu*att.
qc: B {s gd iil w gu ta frlu *1 qr ss*' qn *+ t frae lr+at t.
qfr r ql E-d E1 ordftl qqrq di t qd +rr qrftq E] T{ Et t*,,t fr1 +q tdl t.
*+r tq qq qr $q qqq fi qrq qlz q,'{ End qr Srrdn 

q,,{ tdl t' tq ffi q{ iq sqq fr qrq
q] qqrwfr qgr 6'6i t.
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l00x l0

120xll0to = ---iO Fo = 1320Fo

qErqfr Tgr = tq tr{ q{ qlo qrq.

.'. 1320 Fo t5I 8 cr€ 61 6qrq 120 Fo t.
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FrErfrfuil Erm { t r*6 fr +n sm ei furtfu-r 1r; ;r1f<q :

l. 540 Fo t fqe qr fird EEra 90 Fo t. T6rsr+ qSr fu-il{ +r ?

(a) 60 to (D) 108 to (c) ll0 Fo (d) ttZ no
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(a) 3 rilii (D) 4 qr6 (c) 6 ur6 (d) I clE

I t. ffi tr{ el rr6mfi dEr z2 r'o t nen Edi 6 $c c{ Ed d Hrrq *' feq ffi mra 60 ro t. tq trq
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2. E00 to q( IIl qlsi :36 to.
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trdwa = (qrrq{qEr-qErqiErq) - r--3.r

?s

xx-22x

25 22x
Eo =l- Fo3.r

25
22t3-
l- do rK ; <{ An Wo nqrq = r To.
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